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‘Part (1): 10 MCQ 3marks per question __6__5_% |
| Outcome: Describe the likelihood of an event TQZ Textbook #513 questions 1-6 |

The spinner shown is spun once. Classify the likelihood of each event
as impossible, unlikely, equally likely, likely, or certain.

- i
1. the spinner landing on dog 7 = & = 507, Equilly iy

\ .o Unbkel _
2. the spinner landing on hamster 6 e J hamster

3. the spinner landing on dog or cat 3—;3': % I"‘(‘?lj ‘ \\e

4. the spinner landing on bird O lmpommf

C? arn Equally
5. the Sp|nner |and|ng or‘] an anlma| -é—::\ Impossible Unlikely  Likely ikely Certain
0% 25% 50% 75% ) 100%
- < "
6. the spinner landing on _cat or hamster :
22\ _ 2 .\ Foualy ukeolg 1 Ay §
g S 0.25 0.5 0.75 1



Part (1): 10 MCQ 3marks per question

Outcome: find the relative frequency of an event and use it to predict the future /_\Textbook #527 questions 1-5

1) A spinner with four equal sections of blue, green, yellow, and red is spu@mes. It lands on
blue 14 times, green 10 times, yellow 8 times, and red 68 times. What is the relative frequency

of landing on red? green?

uwlzer of £GNorOL‘0 C)UU(EM' ﬁ?
ddd nuwbar °F0M'|(6“ QG
12* F_- RQO' = — 62 = 0*68 B'\\M 1Y

Relative meuo n CJ =

|00 Yreen |0 &
Q I:_ \O YQ"ow %
; (Gieen = e red 68ﬁ_
\oo

= .10 = &l



Part (1): 10 MCQ 3marks per question

Outcome: find the relative frequency of an event and use it to predict the future

Textbook #527 questions 1-5

2) The frequency table shows the results of a survey about favorite exhibits. Find the relative
frequency that a randomly selected student’s favorite exhibit was either butterflies or

trains, \as a percent| o/
o

telative P m(uev\?ﬂ T 25

Exhibit I Frequency
Butterfly +«— 12
Dinosaurs 25
Planets 14
Trains <« 6

60




Part (1): 10 MCQ 3marks per question ‘

Outcome: find the relative frequency of an event and use it to predict the future Textbook #527 questions 1-5 |

3) The graph shows the results of an experiment in which a number cube labeled 1 through 6 1s rolled
a number of times. Find the relative frequency of rolling a number greater than 3.

0{+ 54\2 Number Cube Experiment

5-0 12
!

10
26 22
Number Showing

ol least 2

10
50 2 ’ B
g 6
3 |
at WSE __26 X2 B 5"2_ ’
1 P 3

3,2’ | 5‘0 X2 ) ) 090 0

0\

Number of Rolls




Part (1): 10 MCQ 3marks per question

Outcome: find the relative frequency of an event and use it to predict the future Textbook #527 questions 1-5

4) A random selection of students was asked the question “What type of gift did you last receive?” and
the results were recorded in the relative frequency bar graph. What is the experimental probability

that a student chosen at random receive u nm

0.45

P( Gift Card or mo@)

= 035 +0.4Y5
:0.50
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o
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o
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Part (1): 10 MCQ 3marks per question

Outcome: find the relative frequency of an event and use it to predict the future Textbook #527 questions 1-5

5) Based on previous orders, the manager of an ice cream shop determines the probability that a
customer will order chocolate sauce i If there arundaes ordered in one weekend,
how many sundaes are expected to be ordered-witit chocolate sauce?

X P( chocdlad o Squ(e); 857,
-~ B2

- 100

o 0185

V]U‘nwofﬁmddm Qe o/xfec(oc;
_ 35 x 249 2Yo
) %Jx R
- 0.85 K2ho I‘%%oo

[

0
= 20Y / "'70‘13?"




Part (1): 10 MCQ 3marks per question

Outcome: Find the theoretical probability of a simple event and its complement Textbook #537 questions 1-6
1) The spinner shown 1s spun once. 2) Each letter in the word MISSISSIPPI is written
What is the sample space? on a piece of paper and placed into a bag. A letter

is drawn at random. What is the sample space?

Sawpe Space

Saﬂo\é Spade
- ?1,2/3/”,53

In a probability experiment, the set of all possible outcomes is called
the sample space. To find the sample space of a simple event, you
can make a list of each unique outcome.

—




Part (1): 10 MCQ 3marks per question

Outcome: Find the theoretical probability of a simple event and its complement Textbook #537 questions 1-6

3) A teacher placed the letter cards E, L, O, R, U, and W 1n a bag. A card 1s drawn at random.

Determine the theoretical probability for drawing a card that has a vowel on it?

\l 3 Nowed &)//‘,h.c Number °,£ Uo\uel
Lette,




Part (1): 10 MCQ 3marks per question

Outcome: Find the theoretical probability of a simple event and its complement

Textbook #537 questions 1-6

4) A player in a board game rolls a six-sided
number cube labeled 1 through 6 once.
Determine the theoretical probability of
rolllng alor2?

P( 8!&&/ thar 204

3

e

%

[

d» L less & ko 2"“)-’-%
P( ‘ﬁ\eﬁkﬂf '\kau '209)

5) The table shows the lengths of time for rides at a
fair. Zane will choose a ride at random and wants
to find the probability of choosing a ride that lasts
less than 200 seconds. What is the probability of
the complement of the event?

Barrel — 150

Bumper Cars — 195

Circus Carousel @

Log Ride == 120

Roller Coaster — 55

Swings @

Train @
oSty | _ e
AN S-SR SR



Part (1): 10 MCQ 3marks per question

Outcome: Find the theoretical probability of a simple event and its complement Textbook #537 questions 1-6

6) Red is spun on a spinner with five equal—size
sections labeled red, yellow. blue, green, and
purple. What is the probability of the
complement of the event?

_ L
P(Red )= —

Plnot Red)= | — Pl Ped)

A number cube, with sides labeled 1-6, is rolled. Which is the
theoretical probability of rolling a number less than 6, in simplest
form?

® < ® =+ Pe)= —é—

: 1
o1 Aot 6) = \- 5
S




Part (2): 10 MCQ_ (5 marks per question)

Outcome: compare relative frequencies to theoretical probablllLes L Textbook #545 quesl:ions 1-7
M -r

L

1) Jayden spins ¢ w1th four egual size sections labeled red, yellow green and blue, 40 times. Micah randomly selects
one marble from a bag that contains an equal number of red, yellow, green, and blue marbles. He replaces the marble and
selects again. Micah repeats this experiment 40 times. Each student records their results in a frequency bar graph. Which

student’s graph best represents the results that can be expected from each experiment? @
Jayden’s Grap =
Jaden
Yellow Green Blue
Result
Micah’s Gragh
1

Bl 12 jl
| E

e |
. B
| ;:

un

g
»
)

Frequincy

v

o

Red Yellow Green Blue
Result



Part (2): 10 MCQ_ (5 marks per question)| Outcome: compare relative frequencies to theoretical probabilities Textbook #545 quesl:ions 1-7

2) Two experiments are conducted and their results are recorded in frequency bar graphs. Which graph best
represents the results that can be expected from Experiment 1? Experiment 2?

Experiment 1 Experiment 2

A spinner with equal-size sections of card is randomly selected from a bag containing
l/ A, B, C, D, and E is spun 50 times. ﬁve A cards, three B cards, four C cards, one D
card, and two E cards. The card is then placed back
in the bag. There are 50 trials.

Graph1 Graph 2

20 20
E‘ 15 t:;‘ 15
@ — T
3 — 3
g 10 | ( }P g’ 10
w : ' ‘ } w
51 | 5
0 L l ‘: 0 . -
A B C D E A B C D E

Result Result



L

Part (2): 10 MCQ_ (5 marks ) F 3 03 5 T\
art (2): 10 S marks per question Y] \
& Qe

3)Suppose the spinner shown is Sp@nes. Another iinner with four equal-size

sections labeled red, blue, yellow, and purple is spu imes. The results are
recorded in the following frequency bar graphs. Which graph best represents
the results that can be expected from the first spinner? the second spinner?

P(Yellow) = == 0:215 .| 20 ; 22 g N
wblt) = 28 - 0262 s £ .| u_
_?(i’h ) = -%u—.,oi’é 10 gm : —&
o )z oz 038 i EEEE
P(Bw) =2 =TS i E B B

Frfquency

Red Blue Yellow Purple Red B!ué ft-llo:v Purpié
P( \{e“oﬂ) e o . O \’)( Result Result

ID( Furr,o) = %:o-ﬂs SP'MU\QY 2 3?’\1\““ A



Part (2): 10 MCQ_ (5 marks per question)

Outcome: compare relative frequencies to theoretical probabilities. Textbook #545 questions 1-7

5) A coin 1s toss¢d 30 himes. It lands on heads 10 times. Find the experimental

probability and(theoretical probability of tossing heads. Are the probabilities close?

DY/ excpmiment <l prebbilly

o _ L
Sange Space § K, T P(W=35 " 3 -
P(H )= J,Z o O:;
— L- = O-S ’:0. o
e ‘L’ﬂ'u Theovetrad P’ababiﬂj s greafer Fhan he experinerin]

plobabilly . “'y ave ol CQ,S@.




Part (1): 10 MCQ 3marks per question

Outcome: Use organized lists, tables, or tree diagrams to find the sample space and probability of a compound event

Textbook #557 questions 1-5

1) An Italian ice shop sells Italian ice in four flavors: lime, cherry, blueberry, and watermelon.
The i1ce can be served plain, mixed with ice cream, or as a drink. Using an organized list or

table, what is the sample space of possible outcomes

Sewrhj

__f—

e
i(_mq:L ﬂp\am P

Che'[‘j CxImixed with 1'ce Créamh

bluebenny B

Wa{CV’nC ,o N W l

drink D

|

Lf
LM

LD
cP
M

CP
BP

BD

Wi
Wi
IYAD,




Part (1): 10 MCQ 3marks per question

—

Outcome: Use organized lists, tables, or tree diagrams to find the sample space and probability of a compound event Textbook #557 questions 1"5

2) A deli offers a lunch consisting of a soup, salad, and sandwich from the menu shown in the

table. A customer randomly chooses lunch consisting of a soup, salad, and sandwich. Construct
nt, How many possible

and use a tree diagram to determine the sample space of the eve
R

outcomes are in the sample Sp 2 = r ;2

\-\ "\‘5 -
" C —Il-é\ To Tortellini C Caesar K Roast Beef
L Lentil ™ Macaroni R Ham
j 1 T Turkey

S OO Y




Part (1): 10 MCQ 3marks per question

Outcome: Use organized lists, tables, or tree diagrams to find the sample space and probability of a compound event

Textbook #557 questions 1-5

-

3) The spinner shown has six equal-size sections and is spun twice/\What is the

probability that the product of the numbers spun is 127

E = y@

L

4 ¢ 6 '
D

= “— ]
’ (241,43, (B



Part (1): 10 MCQ 3marks per question

Outcome: Use organized lists, tables, or tree diagrams to find the probability of a compound event

Textbook #557 questions 1-5

4) A number from 0 to 9 is randomly selected and then a letter
from A to D is randomly selected. What is the probability
that the number 3 and a consonant are selected ()2~

Numbrgn 0, 1, 2,(2)4,5, 6,7, 8,9

leHer s« _2(B)9 (D) )

@@/ 3D L/ J’
\\Ju\mhm ap am((cmh = '\OX"I:@

3
P(3 ond COY\SOMH'\) il

0.075

5) Lorelei tosses a coin 4 times. What is the probability of
tossing four heads? Express as a percent

® ® @@ nanbar o § owiGne

2% 2 X2 X2 :

OISNICTS,

\X\K\X\:@

P(HHH H) = —I-ig‘: o.0£2§
0.6 625 . 6‘25%

\oo
A6
“uo

‘5?..—
— BC

—_—
-

\b
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| Part (2): 10 MCQ_ (5 marks per question)

Outcome: Use organized lists, tables, or tree diagrams to find the sample space , of a compound event.TCthOOk #558 questions 6—11

6) A number cube labeled 1 through 6 is rolled and the spinner-shown is spun once. The spinner
has four equal-size sections, This experiment is repeated 60 times. The relative frequency
for getting a sum of 5 way(1/5 /What is the difference between the number of expected
outcomes and the number of actual outcomes?

B Lo prabbilitsZ i  Cumgd SPmer
Q%P P J ‘51 y é_il— @
ﬂ(ﬁJICJ fdu‘va lq:i] Qq . 6 Y le—+ 2 .
|
b= T e KV Vi
o e e \ss ? N (B) ™o of ouktme
IR 7 S G ou'\a'*“\l/ = 6xU

- b ~ I - =
T B Ty T T 36 %8s = (O e g




1

S ‘Part (2): 10 MCQ_ (5 marks per question)

‘ OUtCOIIle: Use organized lists, tables, or tree diagrams to find the sample space , of a compound event.TCthOOk #558 queStiOIlS 6"11

7) Olivia tosses a two—sided counter and then spins a spinner with six equal—size sections
labeled 1 through 6. One side of the counter is red. The other side is yellow. She performs
this experiment 80 times. The relative frequency of tossi and spinning a number
greater thawa@What is the difference between the number of expected
outcomes and the number of actual outcomes?

P( a(f(u«.O) = % % —’q %((30):2;

E X «’n'm'n(ua : 35-—- 2—{66)r®

dr?(’elfeu(g U\uefh NU“\}IV ‘-{ WC‘{C’ RL{ 7 chr l?é: @ S W Gns s

. o J owd e
U.(QMJ aw:‘_ ‘/7;2% - chud om Nuw\o"p andeConer £ 2X 6= 1L




Part (3): 3 FRQ (6 to 8 marks per question) Show your steps

Outcome: use organized lists, to find the sample space and probability of a compound event TGthOOk #552,553 Exa.mPles 3,4

Ex.3) Two number cubes labeled 1 through
6 are rolled, what is the probability of
rolling a sum of 97

& &
B ©

40"6\0 NUh\bl! (

of sutlome
= 6X4 = 36

Ex.4)Two coins are tossed and a number cubes
labeled 1-6is rolled. What is the
probability of tossing heads at least
once ,and rolling an even number?

QO 2

1% 200 number oF 4 & 2%
| 1 10GEBY  Fevorsbeoctione <~c~<‘* ‘::-* ooes OB
- "\
\e outfones

Sam=9) = Numbey onaucm\o o A
P( ) JoloD nuwmbe of At r o \en Nunbe) Z_?:”ré”ﬂ o\ Coe O

- _._"'_.,-_— L - Pavorable ot Gwaey = 3X3=9Q

36 | R babiMy = Yam = 0:375S



